Seat Frame and Hardware

2nd Generation Storm, Ranger Il MWD and Pronto R2

NOTE: Ranger Il MWD and Pronto R2 share all the components on this page with the 2nd Generation
Storm except items 7-9.




Seat Frame and Hardware

2nd Generation Storm, Ranger Il MWD and Pronto R2
NOTE: Ranger Il MWD and Pronto R2 share all the components on this page with the 2nd Generation

Storm except items 7-9.

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 A See Chart #1 Seat Side Frame and Hardware 1 1
2 1068142-NLA | NLA - Frame, Seat, Black (14" - 20" W) 1 1
2 1068163-NLA | NLA - Seat Frame, 21" - 22" Wide 1 1
3 1025736 Locknut (1/4-20) 1 2
4 0050406 Washer, Flat (1/4 x 5/8 x 1/16") 1 4
5 0050506-NLA | NLA - Lockwasher, High Collar, Split (1/4") 1 4
6 0051006-NLA | NLA - Screw, Hex Head Full Thread (1/4-20 x 1 2
1-1/2")
7 0225100-NLA | NLA - Bumper, Tilt 1 2
8 1077358 Lockwasher, Split (3/8-16) 1 2
9 1077359 Nut, Hex (3/8-16) 1 2
NOTE: A - Includes seat side frame and items 3-6
#1 Seat Side Frame and Hardware
Chair Depth 14"-1E_>" Width 14"-15" Width 16"-22_" Width 16"-22" Width
Right Left Right Left
14"-15" Depth 1072933-NLA 1072934-NLA N/A N/A
16"-20" Depth 1072931-NLA 1072932-NLA 1072744-NLA 1072745-NLA
See Note(s) A See Note(s) A
21"-22" Depth N/A N/A 1072807-NLA 1072808-NLA

NOTE: A -When part number 1072931 or 1072932 are required, call Invacare Customer Service and order as a "Special Order".




